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99. 7 0.1 0.0 99. 4 0.0 -0.3 91
99.9 0.2 ~0.2 99. 3 0.1 0.7 104
99.5 0.3 ~0.4 98.8 0.6 0.9 114
99. 5 0.0 0.0 98.7 0.0 0.7 124
99. 6 0.1 ~0.2 98.7 0.0 -0.2 201241f
99.9 0.3 0.4 98. 6 0. 1 ~0.4 2 1
100. 4 0.5 0.8 99. 1 0.5 0.2 3 )]
100. 4 0.1 0.4 99.5 0.4 ~0. 1 4]
100.2 0.2 0.1 99.0 ~0.4 ~0.4 51
99. 3 0.9 0.5 98.7 ~0.4 0.9 6 J1
98.9 ~0.4 0.8 98. 1 0.6 -1.2 74
99. 1 0.2 0.6 98. 2 0.2 1.2 8
99. 4 0.3 -0.3 98.4 0.1 1.0 9 /1
99. 5 0.1 0.4 98.3 0.1 1.0 104
99. 2 -0.3 -0.3 98. 1 -0.2 0.7 114
99. 3 0.1 0.1 98. 1 0.1 0.6 124
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B ® A |TPEEXAT, BT A (TTgAD) 1l 138 146 -5.5| 5.5
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